

County Distribution Detail Report through 12/01/2023

Aurora

Aurora										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
10/2023	853	2,147	23	3,023	\$3,778.75	\$90.36	\$3,688.39	0.70	\$2,581.87	
							Entity Tota	al:	\$2,581.87	
							Adjustmer	nt:	\$0.00	
							Total Amo	unt:	\$2,581.87	
Beadle										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
10/2023	2,884	11,487	466	14,837	\$18,546.25	\$387.48	\$18,158.77	0.70	\$12,711.14	
							Entity Tota	nl:	\$12,711.14	
							Adjustmer	nt:	\$0.00	
							Total Amo	unt:	\$12,711.14	
Bennett										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
10/2023	822	1,268	3	2,093	\$2,616.25	\$58.20	\$2,558.05	0.70	\$1,790.64	
							Entity Tota	al:	\$1,790.64	
							Adjustmer	nt:	\$0.00	
							Total Amo	unt:	\$1,790.64	
Bon Homme										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
10/2023	1,476	4,356	81	5,913	\$7,391.25	\$149.64	\$7,241.61	0.70	\$5,069.13	
							Entity Tota	nl:	\$5,069.13	
							Adjustmer	nt:	\$0.00	

Total Amount:

\$5,069.13

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	8,746	23,751	1,367	33,864	\$42,330.00	\$881.11	\$41,448.89	0.70	\$29,014.22
							Entity Tota	al:	\$29,014.22
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$29,014.22
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	7,277	29,024	1,241	37,542	\$46,927.50	\$1,020.07	\$45,907.43	0.70	\$32,135.20
							Entity Tota	al:	\$32,135.20
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$32,135.20
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	2,060	4,047	85	6,192	\$7,740.00	\$157.25	\$7,582.75	0.70	\$5,307.93
							Entity Tota	al:	\$5,307.93
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,307.93
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	538	550	1	1,089	\$1,361.25	\$33.35	\$1,327.90	0.70	\$929.53
							Entity Tota	al:	\$929.53
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$929.53
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	1,929	7,320	287	9,536	\$11,920.00	\$252.67	\$11,667.33	0.70	\$8,167.13

							Total Amo	unt:	\$8,167.13
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	574	1,393	19	1,986	\$2,482.50	\$51.06	\$2,431.44	0.70	\$1,702.01
							Entity Tota	al:	\$1,702.01
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,702.01
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	2,167	5,953	16	8,136	\$10,170.00	\$206.08	\$9,963.92	0.70	\$6,974.74
							Entity Tota	al:	\$6,974.74
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,974.74
City of Box Elder, M	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	19	3,144	46	3,209	\$4,011.25	\$83.23	\$3,928.02	0.70	\$2,749.61
							Entity Tota	al:	\$2,749.61
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,749.61
City of North Sioux	City, Uni								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	480	3,328	81	3,889	\$4,861.25	\$111.85	\$4,749.40	0.70	\$3,324.58
							Entity Tota	al:	\$3,324.58
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,324.58
City of Pierre, Hughe	es Co.								

Entity Total:

Adjustment:

\$8,167.13

\$0.00

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	2,866	12,091	1,117	16,074	\$20,092.50	\$414.39	\$19,678.11	0.70	\$13,774.68
							Entity Tota	ıl:	\$13,774.68
							Adjustmer	ıt:	\$0.00
							Total Amo	unt:	\$13,774.68
City of Sioux Falls, L	incoln (
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	3,634	30,086	3,800	37,520	\$46,900.00	\$968.75	\$45,931.25	0.70	\$32,151.88
							Entity Tota	ıl:	\$32,151.88
							Adjustmer	ıt:	\$0.00
							Total Amo	unt:	\$32,151.88
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	1,012	2,592	58	3,662	\$4,577.50	\$100.92	\$4,476.58	0.70	\$3,133.61
							Entity Tota	ıl:	\$3,133.61
							Adjustmer	ıt:	\$0.00
							Total Amo	unt:	\$3,133.61
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	1,351	8,090	299	9,740	\$12,175.00	\$275.08	\$11,899.92	0.70	\$8,329.94
							Entity Tota	ıl:	\$8,329.94
							Adjustmer	ıt:	\$0.00
							Total Amo	unt:	\$8,329.94
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	5,470	21,661	1,502	28,633	\$35,791.25	\$791.46	\$34,999.79	0.70	\$24,499.85
							Entity Tota	ıl:	\$24,499.85
							Adjustmer	ıt:	\$0.00

							Total Amo	unt:	\$24,499.85
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	780	1,084	407	2,271	\$2,838.75	\$59.13	\$2,779.62	0.70	\$1,945.73
							Entity Tota	al:	\$1,945.73
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,945.73
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	2,807	6,879	53	9,739	\$12,173.75	\$273.58	\$11,900.17	0.70	\$8,330.12
							Entity Tota	al:	\$8,330.12
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$8,330.12
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	3,742	15,467	603	19,812	\$24,765.00	\$516.79	\$24,248.21	0.70	\$16,973.75
							Entity Tota	al:	\$16,973.75
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$16,973.75
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	1,582	3,833	89	5,504	\$6,880.00	\$142.04	\$6,737.96	0.70	\$4,716.57
							Entity Tota	al:	\$4,716.57
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,716.57
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	1,308	3,266	105	4,679	\$5,848.75	\$122.52	\$5,726.23	0.70	\$4,008.36

							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,008.36
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	998	2,263	20	3,281	\$4,101.25	\$82.38	\$4,018.87	0.70	\$2,813.21
							Entity Tota	al:	\$2,813.21
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,813.21
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	987	3,120	60	4,167	\$5,208.75	\$105.36	\$5,103.39	0.70	\$3,572.37
							Entity Tota	al:	\$3,572.37
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,572.37
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	2,500	5,236	33	7,769	\$9,711.25	\$202.90	\$9,508.35	0.70	\$6,655.85
							Entity Tota	al:	\$6,655.85
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$6,655.85
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	620	1,630	55	2,305	\$2,881.25	\$58.43	\$2,822.82	0.70	\$1,975.97
							Entity Tota	al:	\$1,975.97
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,975.97
Grant									

Entity Total:

\$4,008.36

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	1,492	5,783	279	7,554	\$9,442.50	\$223.10	\$9,219.40	0.70	\$6,453.58
							Entity Tota	ıl:	\$6,453.58
							Adjustmen	ıt:	\$0.00
							Total Amou	unt:	\$6,453.58
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	1,383	3,647	9	5,039	\$6,298.75	\$145.76	\$6,152.99	0.70	\$4,307.09
							Entity Tota	ıl:	\$4,307.09
							Adjustmen	ıt:	\$0.00
							Total Amou	unt:	\$4,307.09
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	859	1,442	3	2,304	\$2,880.00	\$58.45	\$2,821.55	0.70	\$1,975.09
							Entity Tota	ıl:	\$1,975.09
							Adjustmen	ıt:	\$0.00
							Total Amou	unt:	\$1,975.09
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	1,205	4,367	124	5,696	\$7,120.00	\$147.44	\$6,972.56	0.70	\$4,880.79
							Entity Tota	ıl:	\$4,880.79
							Adjustmen	ıt:	\$0.00
							Total Amou	unt:	\$4,880.79
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	894	2,766	42	3,702	\$4,627.50	\$100.33	\$4,527.17	0.70	\$3,169.02
							Entity Tota	ıl:	\$3,169.02

	Adjustment:	\$0.00
	Total Amount:	\$3,169.02
•		

							Total Allio	unt.	φ3,109.02
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	670	3,254	87	4,011	\$5,013.75	\$113.94	\$4,899.81	0.70	\$3,429.87
							Entity Tota	al:	\$3,429.87
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,429.87
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	599	886	1	1,486	\$1,857.50	\$48.06	\$1,809.44	0.70	\$1,266.61
							Entity Tota	ıl:	\$1,266.61
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,266.61
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	510	3,397	307	4,214	\$5,267.50	\$144.85	\$5,122.65	0.70	\$3,585.86
							Entity Tota	al:	\$3,585.86
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,585.86
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	2,300	5,556	78	7,934	\$9,917.50	\$200.73	\$9,716.77	0.70	\$6,801.74
							Entity Tota	ıl:	\$6,801.74
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,801.74
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

10/2023	557	1,110	12	1,679	\$2,098.75	\$42.54	\$2,056.21	0.70	\$1,439.35
							Entity Tota	al:	\$1,439.35
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,439.35
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	546	924	16	1,486	\$1,857.50	\$37.55	\$1,819.95	0.70	\$1,273.97
							Entity Tota	al:	\$1,273.97
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,273.97
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	688	1,452	19	2,159	\$2,698.75	\$54.20	\$2,644.55	0.70	\$1,851.19
							Entity Tota	al:	\$1,851.19
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,851.19
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	418	769	4	1,191	\$1,488.75	\$30.49	\$1,458.26	0.70	\$1,020.78
							Entity Tota	al:	\$1,020.78
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,020.78
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	747	4,177	298	5,222	\$6,527.50	\$143.98	\$6,383.52	0.70	\$4,468.46
							Entity Tota	al:	\$4,468.46
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,468.46

|--|

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	2,089	9,600	1,608	13,297	\$16,621.25	\$361.18	\$16,260.07	0.70	\$11,382.05
							Entity Tota	al:	\$11,382.05
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$11,382.05
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	5,601	19,812	969	26,382	\$32,977.50	\$709.74	\$32,267.76	0.70	\$22,587.43
							Entity Tota	al:	\$22,587.43
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$22,587.43
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	2,876	27,527	2,823	33,226	\$41,532.50	\$949.34	\$40,583.16	0.70	\$28,408.21
							Entity Tota	al:	\$28,408.21
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$28,408.21
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	998	1,898	376	3,272	\$4,090.00	\$86.83	\$4,003.17	0.70	\$2,802.22
							Entity Tota	al:	\$2,802.22
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,802.22
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	1,251	3,209	95	4,555	\$5,693.75	\$129.40	\$5,564.35	0.70	\$3,895.05

							Entity Tota	ıl:	\$3,895.05
							Adjustmer	ıt:	\$0.00
							Total Amo	unt:	\$3,895.05
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	1,541	4,581	34	6,156	\$7,695.00	\$156.48	\$7,538.52	0.70	\$5,276.96
							Entity Tota	ıl:	\$5,276.96
							Adjustmer	ıt:	\$0.00
							Total Amo	unt:	\$5,276.96
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	806	1,655	5	2,466	\$3,082.50	\$74.84	\$3,007.66	0.70	\$2,105.36
							Entity Tota	ıl:	\$2,105.36
							Adjustmer	ıt:	\$0.00
							Total Amo	unt:	\$2,105.36
Meade									
Reporting Period									
	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	Telecom Lines	Wireless Lines 20,805		Total Lines 24,153	Surcharge \$30,191.25	Admin Fee \$651.16	Net Surcharge \$29,540.09	_	Entity Amount \$20,678.06
10/2023			Lines		_			Percent 0.70	
10/2023			Lines		_		\$29,540.09	Percent 0.70	\$20,678.06
10/2023			Lines		_		\$29,540.09 Entity Tot a	Percent 0.70 al:	\$20,678.06 \$20,678.06
10/2023 Mellette			Lines		_		\$29,540.09 Entity Tota Adjustmen	Percent 0.70 al:	\$20,678.06 \$20,678.06 \$0.00
			Lines		_		\$29,540.09 Entity Tota Adjustmen	Percent 0.70 al:	\$20,678.06 \$20,678.06 \$0.00
Mellette	2,460	20,805	Lines 888 VOIP	24,153	\$30,191.25	\$651.16	\$29,540.09 Entity Tota Adjustmer Total Amo	Percent 0.70 al: unt: Entity	\$20,678.06 \$20,678.06 \$0.00 \$20,678.06
Mellette Reporting Period	2,460 Telecom Lines	20,805 Wireless Lines	VOIP Lines	24,153 Total Lines	\$30,191.25 Surcharge	\$651.16 Admin Fee	\$29,540.09 Entity Total Adjustment Total Amo	Percent 0.70 al: tt: unt: Entity Percent 0.70	\$20,678.06 \$20,678.06 \$0.00 \$20,678.06 Entity Amount

\$1,124.89

Total Amount:

Miner

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	838	1,785	23	2,646	\$3,307.50	\$51.13	\$3,256.37	0.70	\$2,279.46
							Entity Tota	ıl:	\$2,279.46
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$2,279.46
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	30,861	167,951	7,847	206,659	\$258,323.75	\$5,510.55	\$252,813.20	0.70	\$176,969.24
							Entity Tota	ıl:	\$176,969.24
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$176,969.24
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	838	5,115	287	6,240	\$7,800.00	\$179.77	\$7,620.23	0.70	\$5,334.16
							Entity Tota	ıl:	\$5,334.16
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$5,334.16
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	19,081	92,499	5,451	117,031	\$146,288.75	\$3,155.12	\$143,133.63	0.70	\$100,193.54
							Entity Tota	ıl:	\$100,193.54
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$100,193.54
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	1,535	2,434	9	3,978	\$4,972.50	\$110.46	\$4,862.04	0.70	\$3,403.43
							Entity Tota	ıl:	\$3,403.43
							Adjustmen	ıt:	\$0.00

						Total Amo		Total Amount:	
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	908	1,954	9	2,871	\$3,588.75	\$72.24	\$3,516.51	0.70	\$2,461.56
							Entity Tota	al:	\$2,461.56
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,461.56
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	2,823	5,498	29	8,350	\$10,437.50	\$234.55	\$10,202.95	0.70	\$7,142.07
							Entity Tota	al:	\$7,142.07
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,142.07
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	676	1,902	15	2,593	\$3,241.25	\$67.30	\$3,173.95	0.70	\$2,221.77
							Entity Tota	al:	\$2,221.77
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,221.77
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	1,512	4,813	137	6,462	\$8,077.50	\$167.06	\$7,910.44	0.70	\$5,537.31
							Entity Tota	al:	\$5,537.31
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,537.31
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	588	2,401	80	3,069	\$3,836.25	\$81.30	\$3,754.95	0.70	\$2,628.47

							Adjustment:		\$0.00
							Total Amo	unt:	\$2,628.47
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	522	1,308	7	1,837	\$2,296.25	\$48.10	\$2,248.15	0.70	\$1,573.71
							Entity Tota	al:	\$1,573.71
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,573.71
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	0	127	0	127	\$158.75	\$13.11	\$145.64	0.70	\$101.95
							Entity Tota	al:	\$101.95
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$101.95
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	1,878	4,155	9	6,042	\$7,552.50	\$154.86	\$7,397.64	0.70	\$5,178.35
							Entity Tota	al:	\$5,178.35
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,178.35
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	1,487	6,861	144	8,492	\$10,615.00	\$225.32	\$10,389.68	0.70	\$7,272.78
							Entity Tota	al:	\$7,272.78
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,272.78
Union									

Entity Total:

\$2,628.47

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	2,013	12,036	793	14,842	\$18,552.50	\$442.03	\$18,110.47	0.70	\$12,677.33
							Entity Tota	ıl:	\$12,677.33
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$12,677.33
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	1,426	3,882	416	5,724	\$7,155.00	\$148.75	\$7,006.25	0.70	\$4,904.38
							Entity Tota	ıl:	\$4,904.38
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$4,904.38
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2023	3,829	18,579	733	23,141	\$28,926.25	\$627.28	\$28,298.97	0.70	\$19,809.28
							Entity Tota	ıl:	\$19,809.28
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$19,809.28
TOTALS	161,304	677,748	36,013	875,065	\$1,093,831.25	\$23,528.42	\$1,070,302.83		